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(KANNADA ENGLISH)

COMMON ENTRANCE TEST -2016

Question Bank

1. If 3  then x equal totan− 1 x + cot − 1 x ≡ π

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tl4K48ItxiAl


A. 

B. 0

C. 44228

D. 1

Answer: D

Watch Video Solution

min us1

2. Find the co-ordinates of the foot of the

perpendicular drawn from the origin to the

plane 5y + 8 = 0

https://dl.doubtnut.com/l/_tl4K48ItxiAl
https://dl.doubtnut.com/l/_VR7p1JiX5PJO


A. (8/25 , 0,0)

B. (0, - 8/2,2)

C. (0, -8/5,0)

D. (0, 8/5,0)

Answer: C

Watch Video Solution

3. If the straight lines

 are

perpendicular, then the value of k is

2x + 3y − 3 = 0 and x + ky + 7 = 0

https://dl.doubtnut.com/l/_VR7p1JiX5PJO
https://dl.doubtnut.com/l/_m0xzHixt9A1j


A. minus 2/3

B. 44257

C. minus 3/2

D. 44230

Answer: A

Watch Video Solution

4. Let  be a binaray operation deifned on R

by  a, b  then the

operation  is

∗

a ∗ b = ∀
a + b

4
εR

∗

https://dl.doubtnut.com/l/_m0xzHixt9A1j
https://dl.doubtnut.com/l/_XRGCZ9YCg21v


A. Associative but not commutative

B. Commutative and Associative

C. Neither Associative nor Commutative

D. Commutative but not Associative

Answer: D

Watch Video Solution

5.  is equal to

A. 0

lim
x→ 0

xex − sinx
x

https://dl.doubtnut.com/l/_XRGCZ9YCg21v
https://dl.doubtnut.com/l/_vVKZhWdGeF85


B. 3

C. 2

D. 1

Answer: A

Watch Video Solution

6. The value of  is equal to

A. 

B. 

∫ dx
e6 logx − e5 logx

e4 logx − e3 logx

x3

3

3

x3

https://dl.doubtnut.com/l/_vVKZhWdGeF85
https://dl.doubtnut.com/l/_Z3xKhlC6w1Y3


C. 0

D. 1/x

Answer: A

Watch Video Solution

7. Integrating factor of  is

Watch Video Solution

x − y = x4 − 3x
dy

dx

https://dl.doubtnut.com/l/_Z3xKhlC6w1Y3
https://dl.doubtnut.com/l/_QxFi0sVKqp77


8. The length of latus rectum of parabola

 is

Watch Video Solution

4y2 + 3x + 3y + 1 = 0

9. Two dice are thrown simultaneously, the

probability of obtaining a total score of 5 is

Watch Video Solution

https://dl.doubtnut.com/l/_NrT6OGTqbddR
https://dl.doubtnut.com/l/_Jd4DxMlInamC


10. Area lying between the curves  and 

 is

Watch Video Solution

y2 − 2x

y = x

11. If A is any aquare matrix of order  then

 is equal to

Watch Video Solution

3 × 3

|3A|

https://dl.doubtnut.com/l/_QFn4RwsMcQpf
https://dl.doubtnut.com/l/_pCWX9fxph6Si


12. The solution for the differential equation

 is

Watch Video Solution

+ = 0
dy

y

dx

x

13. IF x yz are not equal to  the value

of  is equal to

Watch Video Solution

≠ 0, ≠ 1

∣
∣
∣
∣
∣

logx logy log z

log 2x log 2y log 2z

log 3x log 3y log 3z

∣
∣

∣

∣
∣

https://dl.doubtnut.com/l/_0yUpHK0N6gAO
https://dl.doubtnut.com/l/_TBuphZTTf8Mz


14. If  are unit vectors, then what is

the angle between  for 

 to be a unit vectors ?

Watch Video Solution

→
a and

→
b

→
a and

→
b

√3veva −
→
b

15. The set A has 4 element and the set B has 5

elements then the number of injective

mappings that can be deifned from A to B is

Watch Video Solution

https://dl.doubtnut.com/l/_I4MdajbOdGiH
https://dl.doubtnut.com/l/_zaSUD107a6aQ
https://dl.doubtnut.com/l/_BpP9ufUDtT7l


16. The two curves

Watch Video Solution

x3 − 3xy2 + 2 = 0 and 3x2y − y3 = 2

17. Evaluate 

Watch Video Solution

∫ dx
ex(1 + x)

cos2(xex)

18. The simplified form of

 isin + in+ 1 + in+ 2 + in+ 3

https://dl.doubtnut.com/l/_BpP9ufUDtT7l
https://dl.doubtnut.com/l/_mIy8r5Mb6Q9x
https://dl.doubtnut.com/l/_VgV6kTy00wap


Watch Video Solution

19. The value of  is

Watch Video Solution

∫
8

2
dx

√10 − x

√x + √10 − x

20. The maximum value of  is

Watch Video Solution

( )
x1

x

https://dl.doubtnut.com/l/_VgV6kTy00wap
https://dl.doubtnut.com/l/_ch0uZUJk0BsY
https://dl.doubtnut.com/l/_keJgMIrVvQ4q


21. The coefficient of variation of two

distribution are 60 and 70. The standard

deviations are 21 and 16 respectively, then

their mean is

Watch Video Solution

22. If x, y, z are all different and not equal to

zero and 

 = 0 then the value

of  is equal to

∣
∣
∣
∣
∣

1 + x 1 1

1 1 + y 1

1 1 1 + z

∣
∣

∣

∣
∣

x− 1 + y− 1 + z − 1

https://dl.doubtnut.com/l/_wbhjGg1MQ8jl
https://dl.doubtnut.com/l/_mSkaWTiDF7mb


Watch Video Solution

23. If  and 

represent a circle then the centre and radius is

Watch Video Solution

x = 2 + 3 cos θ y = 1 − 3 sin θ

24. If , then  is equal

to

Watch Video Solution

sin− 1 x + sin− 1 y =
π

2
x2

https://dl.doubtnut.com/l/_mSkaWTiDF7mb
https://dl.doubtnut.com/l/_3Vx4tp5dh5IN
https://dl.doubtnut.com/l/_lGdngI2c6Zgb
https://dl.doubtnut.com/l/_KQXjaBrXLocW


25. If  then  is equal

to

Watch Video Solution

tan− 1(x2 + y2) = α
dy

dx

26. The vector equation of the plane which is

at a distance of  from the origin and

the normal from the origin is  is

Watch Video Solution

3/√14

2 î − 3ĵ + k̂

https://dl.doubtnut.com/l/_KQXjaBrXLocW
https://dl.doubtnut.com/l/_7WnsHXKxp4rf


27. The equation of the normal to the curve

 where the tangent

crosses x - axis is

Watch Video Solution

y(1 + x2) = 2 − x

28. Find the value of 

Watch Video Solution

tan .
π

8

29. The real part of  is(1 − cos θ + I sin θ) − 1

https://dl.doubtnut.com/l/_5nradNIGlc62
https://dl.doubtnut.com/l/_elYwKWzZ266X
https://dl.doubtnut.com/l/_6IvY9YAG8Iqe


Watch Video Solution

30. If  then  is equal

to

Watch Video Solution

xmyn = (x + y)m+n dy

dx

31. The differential coefficient of  with

respect to  is

Watch Video Solution

log10 x

logx 10

https://dl.doubtnut.com/l/_6IvY9YAG8Iqe
https://dl.doubtnut.com/l/_ZNcJMMICH6Bk
https://dl.doubtnut.com/l/_eD5f2QAUCNCI
https://dl.doubtnut.com/l/_m4txyr9U33rW


32.  is equal to

Watch Video Solution

∫
π / 2

0

sin1000 xdx

sin1000
x + cos1000 x

33. The value of

 is equal to

Watch Video Solution

fex dx
x2 tan− 1 x + tan− 1 x + 1

x2 + 1

34. The  term in the expansion of 

 is

11th

(x + )

14
1

√x

https://dl.doubtnut.com/l/_m4txyr9U33rW
https://dl.doubtnut.com/l/_NqSVWBuw9Q4m
https://dl.doubtnut.com/l/_46g9t6cW5Dy9


Watch Video Solution

35. The general solution of 

is

Watch Video Solution

cot θ + tan θ = 2

36. If  and 

, where I is the unit matrix of 

 &  is the transpose of A. then the

value of  is equla to

A = [
cos 2thet −sin 2θ

sin 2θ cos 2θ
]

A + AT = 1

2 × 2 AT

θ

https://dl.doubtnut.com/l/_46g9t6cW5Dy9
https://dl.doubtnut.com/l/_yxmNya6pigGb
https://dl.doubtnut.com/l/_SfQC8uExqul9


Watch Video Solution

37. If A is matrix of order  and B is a

matrix such that AB' and B'A are both defined,

the order of the matrix B is

Watch Video Solution

m × n

38. The value of 1  is

Watch Video Solution

sin− 1( )
cos(53π)

5

https://dl.doubtnut.com/l/_SfQC8uExqul9
https://dl.doubtnut.com/l/_NKFbu5npVDyC
https://dl.doubtnut.com/l/_nRYTHYmkdeq6
https://dl.doubtnut.com/l/_lbneYQO2Y8kS


39. If  then the between 

and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2
→
a .

→
b = ∣

∣
→
a ∣

∣.
∣
∣
∣

→
b

∣
∣
∣

→
a

→
b

90o

30o

60o

45o

https://dl.doubtnut.com/l/_lbneYQO2Y8kS


40. If  upto 

, then  = __________

Watch Video Solution

1 + sin θ + sin2 θ + … ∞2√3 + 4

θ

41. The function  where  is the

greatest integer function is continous at

Watch Video Solution

f(x) = [x] [x]

https://dl.doubtnut.com/l/_Rm544lBSubEb
https://dl.doubtnut.com/l/_sqQEhg5fzcol


42. Let  be defined by 

 which is bijective mapping

then  is given by

Watch Video Solution

f :R → R

f(x) = 2x + 6

f − 1(x)

43. If  are the direction

cosines fo a vector  then 

 is equal to

Watch Video Solution

cosα, cos β, cos γ

→
a ,

cos 2α + cos 2β + cos 2γ

https://dl.doubtnut.com/l/_WKldvf2y7Nji
https://dl.doubtnut.com/l/_KtvYPG81JTp0
https://dl.doubtnut.com/l/_W54qelyNiZiC


44. Write the converse and contrapositive of

the statement " If x is a prime number then x is

odd "

Watch Video Solution

45. The value of  is

Watch Video Solution

∫
π / 4

−π / 4
sin103 x ⋅ cos101 xdx

https://dl.doubtnut.com/l/_W54qelyNiZiC
https://dl.doubtnut.com/l/_aRZWTJxLP0le


46. If a = 3,b = 4, c = 5 each one of  and 

 is perpendicular to the sum of the

remaining then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
a ,

→
b

→
c

∣
∣
∣
→
a +

→
b +

→
c

∣
∣
∣

5√2

√2

5

√2

√5

https://dl.doubtnut.com/l/_CTu3TNNcUjXb


47. Suppose

, then the angle between  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
a +

→
b +

→
c = 0, ∣

∣
→
a ∣

∣ = 3,
∣
∣
∣

→
b

∣
∣
∣

= 5, ∣
∣
→
c ∣

∣ = 7

→
a

→
b

π

3

π

2

π

π

4

https://dl.doubtnut.com/l/_bGvCgl9hHM0Y


48. If  then  is equal to

Watch Video Solution

xy = ex−y dy

dx

49. If ,

where P stands for probability then 

is equal to

Watch Video Solution

P (A ∩ B) = 7/10 and P (B) = 17/20

P (A ∣ B)

https://dl.doubtnut.com/l/_AzLNuq1awCIN
https://dl.doubtnut.com/l/_cvz8uVVJZxA4


50. Find a value of "x"for which 

is a unit vector .

Watch Video Solution

x( î + ĵ + k̂)

51. If  & 

then  is equal to

Watch Video Solution

y = esin − 1 ( t2 − 1 ) x = e
sec − 1( )1

t2 − 1

dy

dx

https://dl.doubtnut.com/l/_S21fxYTNycjZ
https://dl.doubtnut.com/l/_NhYJL7O7KGqT


52. If  

 

then  is equal to :

Watch Video Solution

A = [
sin− 1(xπ) tan− 1( )

sin− 1( ) cot − 1(πx)
]

1

π

x
π

x
π

B = [
−cos − 1(xπ) tan− 1( )

sin− 1( ) −tan− 1(πx)
]

1

π

x
π

x
π

A − B

53. The slope of the tangent to the curve

 at the

point  is

Watch Video Solution

x = t2 + 3t − 8, y = 2t2 − 2t − 5

(2, − 1)

https://dl.doubtnut.com/l/_OomsysbdUKiK
https://dl.doubtnut.com/l/_dYBIXrkfuVan


54. The rate of change of area of a circle with

respect to its radius at r = 2 cms is

Watch Video Solution

55. IF  then  is equal

to

Watch Video Solution

A = [
3 1

−1 2
] A2 − 5A

https://dl.doubtnut.com/l/_g9G6npoTTQQI
https://dl.doubtnut.com/l/_sMlt9tN29geL


56. The value of the

 is equal to

Watch Video Solution

sin 1∘ + sin 2∘ + … + sin 359∘

57. The order and degree of the differential

equation 

Watch Video Solution

[1 + ( )
2

+ sin( )]

3 / 4

=
dy

dx

dy

dx

d2y

dx2

https://dl.doubtnut.com/l/_GeOVeUnTB3iY
https://dl.doubtnut.com/l/_VOhjt5dmiRrp


58.  is

Watch Video Solution

tan− 1( ) − tan− 1( )
x

y

x − y

x + y

59. The sum of  n terms of the series 

..

Watch Video Solution

1st

+ + +
12

1

12 + 22

1 + 2

12 + 22 + 32

1 + 2 + 3

60. Two cards are drawn at randrom from a

pack of 52 cards. The probability of these two

https://dl.doubtnut.com/l/_w0DUO2d1ewWG
https://dl.doubtnut.com/l/_8Qn6msGOUrmF
https://dl.doubtnut.com/l/_Oh5MuLa4Tjyk


being "Aces" is

Watch Video Solution

https://dl.doubtnut.com/l/_Oh5MuLa4Tjyk

